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A man gave 50% of his savings of ¥ 84,100 to his
wife and divided the remaining sum among his

two sons A and B of 15 and 13 years of age re-
spectively. He divided it in such a way that each

of his sons, when they attain the age of 18 years,
would receive the same amount at 5% compound
interest per annum. The share of B was

Ueh 3EHT 7 31941 ==d 84,100 9T HT 50% 37941 et
Fi 2 fean 3R 99 ufer FH9: A 15 A 13 99 # 5
7 A @ B ® faufem +3 € se 33 ofe it 39 7R
faufsa o fF so= 9 18 99 =+t 319 & &9 W5%
yfqad &1 Sshafe =9 W % 994 TEE ww F1i B
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(1) ¥ 20,000 (2) 20,050
(3) 22,000 (4) 22,050
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The ditference between the compound interest and
@ simple interest on ¥ x at 8% per annum for 2
years is ¥ 19.20. What is the value of x?

.,% F X! Toh R W 8% Tfawd st X ¥ 7 a¥ o fou
\e2 Jf5 S 3R WERT 1S m|3ﬁi@?l £l
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The simple interest and compound interest

§ 4= |50 (compounded annually) on a certain sum of
money with a given rate for a period of 2 years
S‘OK

are ¥ 900 and ¥ 954 respectively. The sum of money
s
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Find the difference between the compound inter-
est and the simple interest on ¥ 32,000 at 10%
p.a. for 4 years.

F 32,000 & ¥R W 4 99 & fa@ 10% ot i

T TSl 3 GIYNU SA1S R 3= ard|
2051.20 (2) T2052.50
(3)3 %125.20 (4) T2501.20
Aupax( t) |
N, |ee8O—




/@ W atiendra d/// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E06321 /

The compound interest on a certain sum of mon-
ey at 5% per annum for 2 years is ¥ 246. The sim-

ple interest on the same sum for 3 years at 6% per
annum 1

Sfaerd difties =ATS1 L H 2 a6 H
Tehel(G SIS 246 W%laﬁ’rwﬁ ek
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e between the
rest for 3

Y/
hdlg AN

On what sum does the differe
\ ’]'(3{,0_'_”‘) compound interest and the ple/ inte
years at 10% is ¥ 31 ? L\

— fordt a=ufsr =1 oW § 10% <&
IR0 AN k1 A=< 7 31 21 Ol 98 URT = eyl
(1) T 1500 (2)T 1200 (3)T 1100 ( 1000
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A sum becomes ¥ 2,916 i ars per an-
num compound interest. Fie simplé nterest at

9% per annum for 3 years on the same amount
will be

T ST 8% ufd od

_—
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The compound interest on a certain sum of mon-

f beQ  [OW | 8¢0 ey at a certain rate per annum for two years is ¥
= T 2,050, and the simple interest on the same
R | P amount of money at the same rate for 3 yearsis ¥

3,000. Then the sum of mone

ﬁ—‘n 1 FhdlG

,aﬂie—cﬁrﬁwﬁmaﬂﬂ"rﬁﬂmﬂ
Jer— Eﬁ’wmmgs,oo 0 21 1 sHel & et € 2

= (L2700, (2) T 18,000
;@ (3) 21,000 (4) T 25,000
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The simple-inaterest.on a certain sum at the end
==~ _

Mrs a C .a. is Rs.1,200. The

interest 0 e same sum for the same

period at the same rate is (interest compounded

yearly):

foret fafy=aa o iyt W 5% 9fd oo &t T 9§ 9 99f <6
Fd § WHERO & 1200 U 2| FHE SR 9
w9 9 gaifsd 99F X 9 991 o1afy o fag
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(1) 1,260 m)/ri,soo (3) F820 (47T 1.261
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0/ )(ga’ The simple interest on a sum of Rs. 50,000 at the

W end of two years is Rs. 4,000. What would be the

compound interest on the same sum at the same

/g@' rate for the same period?

1 Teh ¥AURT P 2 o 37d H HIYRO
=TS 4,000 99 2| T W HHE SEfy e
I &N W 9 TS 1 B2

(1)< 4,040

4,080 (3)< 4,008 (4) X 8,000
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A sum of ¥ x was borrowed and paid back in two
M equal yearly instalments, each of ¥ 35,280. If the

rate of interest was 5%, compounded annually
then the value of x is:

2 xF T A TR A aﬁiméﬂ‘r
X a1t fohedl H o7l
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A. borrowed ¥ 28,500 at 8% pa interest compound-
ed annually. If ¥ 5,780 was paid at the end of
first year, then the outstanding amount at the
end of second year is:

A+ 28500 %. 8% dlfbe® Fhdfg AN W IR fornl Al
5780 %. T T ol T =6 o

(2) ¥ 27,462.40
(4) ¥ 33,242.40
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A loan has to be returned in two equal yearly in-
stalments each of ¥ 44,100. If the rate of interest

is 5% per annum, compounded annually, then
the total interest paid is :

fhdl SBUT i Y&k 44,100 TIT i S THME it fmydt

00 T 9ag w1 Bl A ot ®9 9 <ohdlg oA
4 *I R 5% Ufd 99 € @ A T e A

k (1) 7 5,840 (2} 6,000 ‘(3) 6.200 (4) .6,980
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A certain loan was returned in two equal half year-
ly instalments each of ¥ 6,760. If the rate of in-
terest was 8% per annum, compounded yearly,
how much was the interest paid on the loan?

B0 ot e i f¥=d ¥ YSE 6,760 TWU H
FEHM 3Tg-aite feadl § R Sl el afe afifs &9
q g dGshdfg oA X 8% Ufd 94 off, @ 0 W AN

o ®9 ¥ foradr Tl =1 e fohan m=n?
I (2) 810 (3) 7790 (4)F 770
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A man borrows ¥ 21000 at 10% compound inter-
est. How much he has to pay annually at the end
of each year, to settle his loan in two years ?

Teh 3RHT 10% Fhdfg o9 T 21000 F9T T 0T ol
21 e T &% 3d | 3O aueR forar ufyr < w2t fR
g9 H KU1 1 YTAE & ST ?

(1) T 12000 (2)T 12100 (3)T 12200 (4) T 12300




